Foi7ka A, 45 b WY AL B B4 S a, b 2 hefuE?

b
@% @ 2a+2b ® a;
a+b % + 2b




Zol7t a, RIS o7} 2a , &o17F h 1 AHE|Ee] .

, h=15 4 o Al E2] WolE Fotoet.



@ 2x-3

@ 3x4+2

@ 2x+3

® 3x+4

@ 3x-2



@ 2x 2} -5x O x%y &} 3xy? ©® -117
® —% 9]'—% @ -4x% 1} 353 ® x 2 -2y

® 9,06 ® 0.0 ® 0,08
® ,0,0 ® 0,0,60,8,®



gy & WA 7188 el 7158 A stel e He] ofy

AL

@ axb+(3xx-2xYy) @ a+b+(3xx-2xYy)
1 1
g -2 hbX ———————

® a 5 (3xx—2xy) @ ax X(3Xx—2><y)
1 1

® a+—-x

b (3xx—-2xy)



x% o AFE200g Fy% o &

32 500g o] Yt} T A2FES
AT 30 5EE x 9y B ALEF Ao ehyolat

@ <2x—g5y> % 5 (2xz5y) % !

0 (2x—;—5y> 9 ® (2x—5y> % 3 (5x—2y) ¥

5



jant

ol

o|J

o
Tor
Tod
ofu

Eo
T

a4o]ct,

bae 257t 19l o

G o]

® Ao}

7} 7F

2~
T

oA 2



wr_e
G
or
I
ol

2x% -4
3 =
xy +y?







10. ofd x of Tt ¢
5x+70°] HAUct. &

@ x+17

@ —3x+12

FAelA 2x -5 &
S ARt 2422

@ 10x-12

B x+7

o}

@ 3x-12



11. o3} 2o 2A12te merel 2 JE:

wol 7k, Ase] AFT Hoz -
22 WS 2 Holk? |

D -12x+2y+4 @ 12x—2y+6 ® 14x-2y+4

@ 14x+2y+6 ® 14x-2y+6



12.

ykm o] E2E AH2+=

E A% 7km 2

Upehfiolat.

Ok
=%

|= - N
2 A=

A& 5km 2 a A|7FE<1
o, A4 A A7HS 232}

AIZE

0

i

a 1,
g

o ot
> o

lo

CIC)



ol
S
oll
o8

ol
Kfo
,.mo

oln

ol 3 7%l o

OO]—
P
o

@ 5x-3y-4=

5 o]al

— -

@ 2-5x 9 x9 A

® 6x2-8x+ 10+ ax®> +x+ 1 o] x| 57| ¢

-6 o] r,]-



1

14, et 1)+ (6x+3) =ar+b2 1, ] grg Fotele,

aa:g:



o

Qo]
=

oS a x=3

Al
=

?.

shei?

® 25

@ 10

® 15

@D -25



13






18.

Aasole 54 x 77t

w e, A A5 o mnteold), %

402 YEnfu?

@ 10a + 100b + 500(x —a —b) &
@ (100a + 10b 4 500x) ¥

® (10a + 1005 + 500x) ¥

@ (100a + 100b + 500x) Y

® 100a + 106+ 500(x —a—-b) Y



19. [x] =x
o], o= AlLkstel et

<=3.7>Xx[-7 + <%>

1
® -3

Hop 37 e M 2 455 Uea, <x>Ex-[4] &



1 1
Z h=-—=
3’ 5 €
Ck-

Ct

4

2
b

1

+ 22 o gre Fateler

c



